UGC NET 2021 History Shift 1

Topic:- GP_29NOV_A

1) Study the given table carefully and answer the questions that follow

Train  [Source |DestinationDistanceSpeed [Fair per [Total Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 [130 3000 680 |400

1002 B Q 1080 |160 3600 870 |550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 620
1005 [E T 1180 125 3200 780 [520

fou a1 ARl @ eaIgde UG 3R SIGIRIRUT ol dardl Ygoll @l 3tk SIfSTg ¢

&l i L%ﬁm
ISt Qe eidc (gfercafep w[@er  prRfdra
i ot e |10/ |(RoAR o o
[el.) H.)
1001 A P 1200 (130 3000 680 400
1002 B Q 1080 (160 3600 870 |550
1003 |C R 1280 [155 2800 650 350
1004 D S 1250 [130 2900 980 620
1005 [E T 1180 |[125 3200 780 520

Which train has minimum per km cost?

fopa1 ot 3 yfer Rp.aft. a1 oxgoraa 3 ?

[Question ID = 201][Question Description = S2_qSNz_PG_GP26_Q01]
1. 1001

[Option ID = 801]
2. 1003

[Option ID = 802]
3. 1004

[Option ID = 803]
4. 1005

[Option ID = 804]
Correct Answer :-
e 1001

[Option ID = 801]

2) Study the given table carefully and answer the questions that follow

[Train [Source |DestinationDistanceSpeed [Fair per [Total |Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats

1001 A P 1200 |130 3000 680 1400

1002 B Q 1080 |160 3600 870 |550



1003 |C R 1280 |[155 2800 650 (350
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1001 A P 1200 (130 3000 680 400
1002 B Q 1080 (160 3600 870 |550
1003 |C R 1280 [155 2800 650 |350
1004 D S 1250 (130 2900 980 620
1005 [ T 1180 [125 3200 780 |520

Which train will take maximum time to reach the destination?

Dlol - Al ol sidea ae ugdel 3 siferadas FIRI cemesft ?

[Question ID = 202][Question Description = S2_qSNz_PG_GP26_Q02]
1. 1001

[Option ID = 805]
2. 1003

[Option ID = 806]
3. 1004

[Option ID = 807]
4. 1005

[Option ID = 808]
Correct Answer :-
e 1001

[Option ID = 805]

3) Study the given table carefully and answer the questions that follow

Train [Source |DestinationDistanceSpeed |Fair per [Total Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 |130 3000 680 (400

1002 B Q 1080 |160 3600 870 |550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 [620
1005 [E T 1180 |125 3200 780 (520
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1001 |A P 1200 |[130 |3000 680 400




1002 B Q 1080 [160 3600 870 |550
1003 (C R 1280 |155 2800 650 350
1004 D S 1250 [130 2900 980 (620
1005 [ T 1180 |125 3200 780 |520

Which train has minimum number of vacant seats?

fopa1 ot 3 zarcht it bt sxporaan Fizoen 3 ?
[Question ID = 203][Question Description = S2_qSNz_PG_GP26_Q03]
1. 1001

[Option ID = 809]
2. 1002

[Option ID = 810]
3. 1003

[Option ID = 811]
4. 1005

[Option ID = 812]
Correct Answer :-
e 1001

[Option ID = 809]

4) Study the given table carefully and answer the questions that follow

[Train [Source |DestinationDistanceSpeed [Fair per [Total |Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 [130 3000 680 |400

1002 B Q 1080 |160 3600 870 |550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 130 2900 980 620
1005 [E T 1180 125 3200 780 |520
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1001 A P 1200 [130  [3000 680 1400
1002 B Q 1080 |160  [3600 870 550
1003 [c R 1280 |155  [2800 650 [350
1004 p S 1250 |130  [2900 980 620
1005 [ T 1180 [125  [3200 780 [520

What is the average of the number of vacant seats for all trains?

209k ol 3 zarcht i o1 siiera aqar 3 ?

[Question ID = 204][Question Description = S2_qSNz_PG_GP26_Q04]
1. 302



[Option ID = 813]
2. 304

[Option ID = 814]
3. 306

[Option ID = 815]
4. 308

[Option ID = 816]
Correct Answer :-
e 302

[Option ID = 813]

5) Study the given table carefully and answer the questions that follow

Train  Source |DestinationDistanceSpeed |Fair per [Total Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 [130 3000 680 |400
1002 B Q 1080 |160 3600 870 |550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 620
1005 [E T 1180 125 3200 780 |520
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1001 |A P 1200 [130 3000 680 (400
1002 B Q 1080 |160 3600 870 [550
1003 |C R 1280 |155 2800 650 |350
1004 D S 1250 |130 2900 980 (620
1005 [E T 1180 |125 3200 780 (520

What is the time difference between the train which takes the maximum duration and the train which takes the minimum
duration?

3ifer e AR cETeAIcl ol 3R SRIoIad AR chollol alcil gol @ did IR - 3icRIel fpdon 3 ?

[Question ID = 205][Question Description = S2_qSNz_PG_GP26_Q05]
1. 2.78

[Option ID = 817]
2. 2.64

[Option ID = 818]
3. 2.86

[Option ID = 819]
4. 2.68

[Option ID = 820]
Correct Answer :-
e 2.78

[Option ID = 817]

Topic:- GP_29NOV_B



1) The name of the MOOC platform developed by IIT Kanpur is

g 3rE & ey gRI R« Jo 3a (wiewei) &1 o 8 -

[Question ID = 206][Question Description = S2_qSNz_PG_GP26_Q06]
1. SWAYAM/>i [Option ID = 821]

2. Causera/®RRr [Option ID = 822]

3. mooKIT/gfase (MOOKIT) [Option ID = 823]

4. MOOCK/a@® [Option ID = 824]

Correct Answer :-
® SWAYAM/Zawi [Option ID = 821]

2) In the role of a test constructor, how should a teacher proceed?
. Prepare test items that match the instructional objectives

. List the major course or unit objectives

. Prepare a table of specifications

. Specify the course or unit content

m O N W >

. Discard unrealistic objectives

Choose the correct answer from the options given below

up gigivl foratar bt sfdrmt 3, o 19181 fop1 YR 31191 agon ?

A. udigiur ISt (35TIA) DI AR Dol Sit JISOUCHDB 39T A Jcl FIT 3l

B. Iz UrgAIapdt 3rerar soors 35931 i I Jotreln

C. fafdrscarsii &bt il d=r= won

D. urgaayd srerar soTs iadaq ol fady «iiar Solr

E. srarafae 3gel @I sa Soll

il fou s1u frapeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 207][Question Description = S2_qSNz_PG_GP26_Q07]

1. A, B, C, D, E [Option ID = 825]
2. B, E, D, C, A[Option ID = 826]
3. C, A E, D, B [Option ID = 827]
4. D, B, E, C, A [Option ID = 828]

Correct Answer :-
e A B, C, D, E [Option ID = 825]

3) Given below are two statements
Statement I: The brain continues to develop throughout childhood and adolescence.
Statement II: The logical and goal-directed actions begin in the sensorimotor period.

In light of the above statements, choose the most appropriate answer from the options given below

il ol el fdu sre 3 ¢
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[Question ID = 208][Question Description = S2_qSNz_PG_GP26_Q08]

1. Both Statement | and Statement Il are correct/era | 3z || Sieit 2@t & [Option ID = 829]

2. Both Statement | and Statement Il are incorrect/aeret | 3iiz || Sl srera & [Option ID = 830]

3. Statement | is correct but Statement Il is incorrect/@erwr | 3@t 2, fbog @eret |l sieia & [Option ID = 831]
4. Statement | is incorrect but Statement Il is correct/@erw | stera 8, fpoq et 1l 2t 8 [Option ID = 832]

Correct Answer :-
e Both Statement | and Statement Il are correct/@emw | aiiz 1l Sleil 31t & [Option ID = 829]

4) An undergraduate degree with Honors in a discipline may be awarded if a student completes
A. 14 core papers in that discipline

B. 2 Ability Enhancement Compulsory Courses



C. 2 Research paper published in any UGC CARE listed journal
D. Minimum 2 Skill Enhancement courses
E. 4 papers each from a list of discipline specific elective and generic elective papers

Choose the correct answer from the options given below:

fop2ft farorr 3 siroref @5 Arer Forraw 3urf?r Ygrel i o Al 3 Afe v fremeff gar oz o 3 :
A. 39 fau 3 14 = auR

B. 2 Aowrar Jathel & siforart urgaas

C. g,sht2f. & siasta Jydag fp=ht sofer 3 yamifdra 2 oferueg

D. Rygterar 2 wloret Fatlol drgadt

E. fafdre dofeus siiz ARG (Sleif¥e) donfeud famril &t e 3 A Yo oot & ar uqg
ofid fou o1 fesedl & A A8 IR BT WRI6T BT :

[Question ID = 209][Question Description = S2_qSNz_PG_GP26_Q09]

A, B, C and D only/d@act A, B, C 3iiz D [Option ID = 833]
A, B, D and E only/aac A, B, D aiiz E [Option ID = 834]
B, C, D and E only/a@act B, C, D siiz E [Option ID = 835]
A, C, D and E only/asaet A, C, D aiiz E [Option ID = 836]

A wWw N =

Correct Answer :-
e A, B, CandD only/dact A, B, C 3liz D [Option ID = 833]

5) Match List | with List I

List | List Il

Govternment of India Projects Purpose

A. Shodhganga I. Expert database + Researcher network
B. SWAYAM PRABHA Il. Thesis database

C. Vidwan Ill. Online content delivery platform

D. SAKSHAT IV. DTH educational channel

Choose the correct answer from the options given below:

et -1 B e -1l A g@fera e

oxe -1 et -1
(eI FADPIR af¥iSieny) (3g9a)

A. omemeI |. faorst stera=a + onerreff sicads

B. FarRigen 1. ofergaier Srera=t

C. fagret lll. sietensel siadyq Aggsil #ia (teicwra)
D. mgma IV. 3t & o 9ifdres <oter

offa fou o1 frpeul 3 3 A IR gfore ©
[Question ID = 210][Question Description = S2_qSNz_PG_GP26_Q10]

A-11,B-1V,C-1,D- Il [Option ID = 837]
A-1V,B-1,C-1ll,D - Il [Option ID = 838]
A-1,B-1ll,C-1I, D - IV [Option ID = 839]
A-1ll, B-11,C-1V, D - | [Option ID = 840]

A W N -

Correct Answer :-
e A-Il,B-1V,C-1,D-Ill [Option ID = 837]

6) The exercise of reviewing the relevant literature is most closely related for which one of the following?

gRIfIe Ffdca Fafign w2l o1 BRI forafciRaa i A fReaRt aaifties forwean wu A Adfera 3 ?

[Question ID = 211][Question Description = S2_qSNz_PG_GP26_Q11]
Formulating research problems/ oher Jeremait @t foiféfa wen [Option ID = 841]

In drawing a sample for the study/si=rIer @ fere steer sm3avr 3 [Option ID = 842]
For analyzing quantitative data/ s o o1 faecsuur w2ol @ fere [Option ID = 843]
Generalization of the finding/3ucifeer o1 Amemeitaszur [Option ID = 844]

A w N =

Correct Answer :-
e Formulating research problems/oiter Jrarz=msii ot foifdfa aszonm [Option ID = 841]

7) Which among the following is an example of descriptive statistic?



forgetfeiRaa af A ot avieiica HiRcadb! oI v BT 3 ?

[Question ID = 212][Question Description = S2_qSNz_PG_GP26_Q12]
1. Chi-square/df - 3a@d=r [Option ID = 845]

2. Regression/yfeeweier [Option ID = 846]

3. Standard deviation/dmer faractar [Option ID = 847]

4. t-statistic/d - Jif¥ch [Option ID = 848]

Correct Answer :-
e Chi-square/dt - ad=r [Option ID = 845]

8) Which among the following are the source of threat to external validity?
A. Sample characteristics

B. Novelty/uniqueness of stimulus

C. Improper manipulation of I.V.

D. Lack of motivation on the part of the participants

E. Reactivity of the assessments

Choose the correct answer from the options given below:

forgoiferiRaa 3 3 Dol drel derdr & SIRGA D Y & ?

A. yfercef fadraare

B. 3€iust @1 3igpoTuet / StfgeiRiar

C. g, &Y. &I 3RIaId SilS - dIs

D. reueh & 3= 2 sifirgzur &t waft

E. gcaaicor b1 gferfapReaddar

il fou s1u frepeul 3 2 I IR BT w6l HIfSIE ©

[Question ID = 213][Question Description = S2_qSNz_PG_GP26_Q13]

. A, B and D only/d@aet A, B 3iiz D [Option ID = 849]
. B, D and E only/dact B, D siiz E [Option ID = 850]
. C,DandE only/aqe C, D siz E [Option ID = 851]
. A, B and E only/daa A, B siiz E [Option ID = 852]

A W N -

Correct Answer :-
e A, B and D only/@act A, B siiz D [Option ID = 849]

9) Given below are two statements
Statement I: Sample sizes for qualitative research vary by technique but are generally small.
Statement Il: Qualitative research involves non-probability sampling.

In light of the above statements, choose the correct answer from the options given below

ofil &I werer Ru are 3 :

Dl - | : JPIcHAD 9Ntel D fere yfercol 3rdR ddelid! GRI fifeol Bid 3 cifdbol AT 31U A I 3
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[Question ID = 214][Question Description = S2_qSNz_PG_GP26_Q14]

Both Statement | and Statement Il are true/wmere | 3 |l Gloil =1 & [Option ID = 853]

Both Statement | and Statement Il are false/@erer | 3iiz 11 @loil 3t & [Option ID = 854]
Statement | is true but Statement Il is false/wepl | 3= &, fboq et |l srRI=r & [Option ID = 855]
Statement | is false but Statement Il is true/eermr | sRIc &, o @eret |l 3= & [Option ID = 856]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 1 @leil 311 & [Option ID = 853]

10) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Student's t-statistic is a robust statistic.

Reason R: Student's t-statistic can yield accurate analysis of data, even if some of the assumptions of parametric statistics
are violated.

In light of the above statements, choose the correct answer from the options given below



il 3t erel fRu s1e 3@ uep sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRI (Reason R) & w4 3 :

sifdrperet (A) : frenelf @1 & - Aif¥sadt v goe Aifl¥srdt 3

@RI (R) : freneff @1 & - wil«rdbl grafére AifRsrdb! & galspisll d 3ccizet fpu Siror uz 3ft od o1 AAG sy o Iwar 3
IWRITD Bl D ATl 3, ofid Ru el 3 2 & 3= 1 a™Ia1 Hifste ¢

[Question ID = 215][Question Description = S2_qSNz_PG_GP26_Q15]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il i 3 3liz (R), (A) &t 3t en & [Option ID = 857]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) clail A1 & wog (R), (A) &t 38 =ime=n o8t 8 [Option ID = 858]
. Ais true but R is false/(A) a1 8, woqg (R) srir & [Option ID = 859]

. Ais false but R is true/(A) srica 8, woq (R) = & [Option ID = 860]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 3 2 3iR (R), (A) &t 38t wmen & [Option ID = 857]

11) In communication, a shrug of shoulders indicates

IAYHUT #, Dl DI IaDI6l ADA 3 -

[Question ID = 216][Question Description = S2_qSNz_PG_GP26_Q16]
1. Responsibility/3azeiRica [Option ID = 861]

2. Honesty/$amerert [Option ID = 862]

3. Interest/%fa [Option ID = 863]
4. Indifference/3crflerar [Option ID = 864]

Correct Answer :-
® Responsibility/sazeiRica [Option ID = 861]

12) Which one of the following is a strategy to overcome communication barriers?

forgotferRaa 3f 3 Plet AYwoT F1eN3il B g3 B bl v vrehfer 3 ?

[Question ID = 217][Question Description = S2_qSNz_PG_GP26_Q17]
. Setting of ground rules/smenf¥® formdl @l =1 won [Option ID = 865]

. Aggression/amagrr [Option ID = 866]

. Advance technology provision/3seld adwofidl graemet [Option ID = 867]

. Use of jargon/grscsiret @1 3uzilst [Option ID = 868]

A W N -

Correct Answer :-
e Setting of ground rules/smenf¥e forwEil @1 =1 w2em [Option ID = 865]

13) The communication between two persons through letters is an instance of:

uqi @ A A <l Afepal & dia Ayl et g 8 ?

[Question ID = 218][Question Description = S2_qSNz_PG_GP26_Q18]
Intrapersonal verbal communication/sioe: dufepe onfega uur [Option ID = 869]
Intrapersonal nonverbal communication/siea: d=fepd stenfecam 2iguur [Option ID = 870]
Interpersonal verbal communication/siaz - &b onfége iuur [Option ID = 871]
Interpersonal nonverbal communication/siR - aftp® srenfégem 2iywur [Option ID = 872]

A w N =

Correct Answer :-
e [ntrapersonal verbal communication/siea: Jifepe onfdgas 2iwur [Option ID = 869]

14) Which one of the following is an example of form of New Media?

forgsiferRae 31 3 Plel web oRI oI @ Hif3a1 oI vp IoBIT 3 ?

[Question ID = 219][Question Description = S2_qSNz_PG_GP26_Q19]
. Newspapers/z@ar ug [Option ID = 873]

. TV/& it [Option ID = 874]

. Radio/3f%= [Option ID = 875]

. Instagram/ssceyet [Option ID = 876]

A WN -

Correct Answer :-
® Newspapers/@@r ug [Option ID = 873]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In classroom communication, Socratic questioning is one of the effective strategies to promote understanding.
Reason R: Feedback through student evaluation of teachers enhances the quality of classroom communication.

In light of the above statements, choose the correct answer from the options given below



il St erel fRu s1e 3@ uap sifdraperet (Assertion A) @ %u 3 iz ¢RI 3@ ®RYT (Reason R) & wu 3 :
sifrpert (A) : el APyl 3, JAddl Yool - fafer 1erst o1 gqror &bt gl wehferRl 3 2 ve 3

®RT (R) : 1grl @ PeAiwar Gt frenfRi o smepEr A gfege wer Aguur &t spradar o g6t Sdl 3
IWRITP Ball B el A, ofld e faaseal 3 A A8 Iaz o1 aRIet Hifste :

[Question ID = 220][Question Description = S2_qSNz_PG_GP26_Q20]

Both A and R are true and R is the correct explanation of A/(A) iz (R) g¥ail 3 & 3z (R), (A) &6l 21& e 8 [Option ID = 877]

Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) clell 31 & woq (R), (A) &t 3 wren oidt 8 [Option ID = 878]
A is true but R is false/(A) 3= 2, wag (R) sri=x & [Option ID = 879]

A is false but R is true/(A) sria &, woqg (R) ;=@ & [Option ID = 880]

A w N =

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sfiz (R) gleil 31 2 3iR (R), (A) &t 38t wmen & [Option ID = 877]

16) Given below are two statements
Statement I: At 8.55% rate of simple interest, a certain sum will be doubled in 12 years.
Statement II: In 3 years 1000 will become ¥1331 at compound interest rate of 10% per annum.

In light of the above statements, choose the correct answer from the options given below

ofid <1 Dot Ru s 3 :

@oerel - | @ el «arst @ 8.55% &t 52 A, v forfra wfor 12 auf 3 Syel 3t sostt
@ - Il : gferad 10% & aagfy st &I g2 21 1000 . diet auf 3 1331 3. 8 sesn
SWwRI el @ sirelld 3, off e sre fameul 3 A 8l IR @I w61 BRI
[Question ID = 221][Question Description = S2_qSNz_PG_GP26_Q21]

1. Both Statement | and Statement Il are true/@et | 3iR || Gleil 3i=x & [Option ID = 881]

2. Both Statement | and Statement Il are false/@emer | 3ii2 || Gleil sRicr & [Option ID = 882]

3. Statement | is true but Statement Il is false/@ermer | 3t &, fboq et |l srir & [Option ID = 883]
4. Statement | is false but Statement Il is true/aeret | 3RIcI 3, fiboqg @eret |l 3= 8 [Option ID = 884]

Correct Answer :-
e Both Statement | and Statement Il are true/eel | 3l |l Gi6il a1 & [Option ID = 881]

17) Which of the following statements are correct?

A. The sum of three consecutive multiples of 3 is 72. The largest number is 27.
B. A number when multiplied by 13 is increased by 180. The number is 13.

C. The average of first 20 multiples of 7 is 73.5.

Choose the correct answer from the options given below:

forarferRaa werll ur frar &3 -

A. 3 & cfiet aEE suact o1 API 72 & ARI §91 AR 27 3

B. uap 3z 3 13 A spom oo 180 &t g A sl 3 3ize=m 13 8

C. 7 & gaa 20 @ suacd o1 sikia 73.5 3

SRS Pl 3 A Blel A8 3 ?

[Question ID = 222][Question Description = S2_qSNz_PG_GP26_Q22]

1. Aand B only/d>act A siiz B [Option ID = 885]
2. B and C only/@act B sfiz C [Option ID = 886]
3. Aand C only/dsaet A siiz C [Option ID = 887]
4. Aonly/@ac A [Option ID = 888]

Correct Answer :-

e Aand B only/@aet A 3iiz B [Option ID = 885]

18) When a sum of money was distributed to 12 boys instead of 16 boys, each boy got ¥40 more. What was the sum?
SId BURI &l U AT DI 16 cISDHI D SolRT 12 ISl A dicT SR dl, YAD casdI 40 . 3if2rd urn ag afdr a=m oft ?

[Question ID = 223][Question Description = S2_qSNz_PG_GP26_Q23]



1. 1290

[Option ID = 889]
2. 1920

[Option ID = 890]
3. 480

[Option ID = 891]
4. 840

[Option ID = 892]
Correct Answer :-
e 1290

[Option ID = 889]

19) The ages of Lokendra and Dharmendra are in the ratio 6:5 and the sum of their ages is 44 years. What will be the ratio
of their ages after 4 years?

clidog 317 &dig I 31y i 6:5 DI 3IoUId 3 311R Ioldl R DI AT 44 af 8 4 o dig Isidl I DI 3folUTd =l oIl ?

[Question ID = 224][Question Description = S2_qSNz_PG_GP26_Q24]
1. 8.7

[Option ID = 893]
2. 7:8

[Option ID = 894]
3. 7:6

[Option ID = 895]
4. 9:7

[Option ID = 896]
Correct Answer :-
e 8.7

[Option ID = 893]

20) In the series 9, 18, 36, --- what will be 12t term?
9,18, 36 bt guitd ___ 12 ai uc = aien ?

[Question ID = 225][Question Description = S2_qSNz_PG_GP26_Q25]
1. 18556

[Option ID = 897]
2. 18652

[Option ID = 898]
3. 18232

[Option ID = 899]
4. 18432

[Option ID = 900]

Correct Answer :-
e 18556

[Option ID = 897]

21) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Denotation cannot be used to define words that have an empty extension
Reason R: Although connotation determines denotation, denotation does not determine connotation

In light of the above statements, choose the most appropriate answer from the options given below

il 3l erel fRu s1e 3@ uep sifdraperst (Assertion A) @ »u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
aifdrperet (A) : FRoaTel W1 IURNPT VA 91661 Y URHIRIT @2ot 3 odl fipan it A Sl b forr - frarard a
@RI (R) : =it Figworel geemel @1 foreror war 3, aeanet Jygwprel @1 forerur ordl wer

IWRITD Bl D ATl #, ofid Ru el 3 2 1 IR b1 T™IaT Hifse ¢

[Question ID = 226][Question Description = S2_qSNz_PG_GP26_Q26]



Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciall 38t 3 32 (R), (A) &I 3t caren & [Option ID = 901]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) Sl & & weoq (R), (A) &t udt =m=n o1df & [Option ID = 902]
A is correct but R is not correct/(A) @l & weoq (R) @t ot & [Option ID = 903]

A is not correct but R is correct/(A) 3 oiét 2 wag (R) 3t @ [Option ID = 904]

A WN -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) gleil 3@t 2 3z (R), (A) &t 3& =meen 2 [Option ID = 901]

22) ldentify the fallacy committed in the argument
All cats are animals.
All dogs are animals.

Therefore, all dogs are cats.

33 dD A= A Dlol AT QY 3 ?

it fafeerit Sierar &

3l ol StiolaR 3

[Question ID = 227][Question Description = S2_qSNz_PG_GP26_Q27]

Fallacy of Four Terms/«ar ugl arert giw [Option ID = 905]

Fallacy of the Undistributed Middle Term/sifdefs sieer ug arem giw [Option 1D = 906]
Fallacy of the Exclusive Premises/fdfdre smemararii aren grw [Option ID = 907]
Existential Fallacy/sif¥acauze® g [Option ID = 908]

A WN =

Correct Answer :-
e Fallacy of Four Terms/ar uet arerr g [Option ID = 905]

23) Identify the fallacy committed in the following argument:
"American Indians are disappearing.
That man is an American Indian.

Therefore, that man is disappearing.”

forgatferiRaa aasarar & Sy @1 usaifoe :
"3t sl facidl a1 38 &, as caftp v Ayl secli= 3; safee ag cafo facd srwrd "
[Question ID = 228][Question Description = S2_qSNz_PG_GP26_Q28]

1. Fallacy of Composition/3isfer - gra [Option ID = 909]

2. Fallacy of Division/fsifp - gt [Option ID = 910]

3. Fallacy of Accident/3uifer - grg [Option ID = 911]

4. Fallacy of Converse Accident/3uifér - wrrr - giw [Option ID = 912]

Correct Answer :-

e Fallacy of Composition/=isfe - gra [Option ID = 909]

24) The condition that there should be an absence of contradiction in the relation of the objects denoted in the
combination of words, for the sentence to be significant is known as which one of the following?

ara @ Arefe ot @ foru Wt ord Rr1dl orect & Joar A forfdte awqaii @ Ader 3 RrlemirT ©r spia al, freifRaa et wu 3 Strer sirar 3 ?

[Question ID = 229][Question Description = S2_qSNz_PG_GP26_Q29]
Akarksa/smpigm [Option ID = 913]

Yogyata/saar [Option ID = 914]

Sannidhi/=fefer [Option ID = 915]

Tatparya/arcwf [Option ID = 916]

A WN -

Correct Answer :-
o Akarksa/smwien [Option ID = 913]

25) Given below are two statements
Statement I: A vyapti between two terms of equal extension is called Samavyapti.
Statement II: The relation between fire and smoke is that of Samavyapti.

In light of the above statements, choose the correct answer from the options given below

ofla of @eret feu a1e 3 ¢



@erel - | ¢ Al AR @ 9 ucl @ & =nfit @ et war Sirar 3

weret - |l : 3t i ¥ & i Ader et 3

SR el d 3iIclld 3, offd fu sre fameul 3 A 38l IR @I w6l BRI
[Question ID = 230][Question Description = S2_qSNz_PG_GP26_Q30]

Both Statement | and Statement Il are true/@serwr | sz |l Gieit 2ier & [Option ID = 917]

Both Statement | and Statement Il are false/@sermet | 3iiz || Slail it & [Option ID = 918]
Statement | is true but Statement Il is false/@emer | 311 8, fbog et |l srRI=r & [Option ID = 919]
Statement | is false but Statement Il is true/memwr | 3R 8, febog weret || A= & [Option ID = 920]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/emwr | 3iR 1 Gleii 311 & [Option ID = 917]

26) The World Wide Web (www) is

acs aIss dd (Socg socg Soc) B -

[Question ID = 231][Question Description = S2_qSNz_PG_GP26_Q31]

. A massive network of networks which are made up of various computers/slcamt @1 uad siferfdre olcad St b 3ol dwiei 3 doll g3 & [Option ID = 921]

. The Internet makes use of TCP/IP protocol/seoke <t =it dt / 318 di gicidier @I 3wiel wer & [Option ID = 922]

. A company which allows a user to connect to the Internet/@usit Sit yiichr @l colc A Jsol 6t semeid oar & [Option ID = 923]

. A collection of multimedia web pages and other documents which are stored on websites/sccisfifEn da Uil 3l s/ G2R GASI @I 2 Sl b daise @
9UsIida (3XRs) fpe s & [Option ID = 924]

A w N =

Correct Answer :-
® A massive network of networks which are made up of various computers/clcamt @I v sifeiidolet slecdd Sil fb 3l PRIl A doll 31 & [Option ID = 921]

27) Hypertext Transfer Protocol (HTTP) is

BIFUR AT AWK QA (Tadidid) 3 :

[Question ID = 232][Question Description = S2_qSNz_PG_GP26_Q32]

. Transfering file from one computer to another/ued ®wie2 3 2R 9 Bisel @I FAwElaRvl den [Option ID = 925]

. A text-based protocol used when sending emails/$d¥et SiSId JWRI e 3menf¥d Yiclorel ®I 3uRllel Bl & [Option ID = 926]
. Protocol used to find an IP address/ams. dt. ©31 yra @2ol 3t Gicidicl ol =il il & [Option ID = 927]

. Fetching an HTML document from a web server/v® daridz 3 va & i vel eadst @l forpreten [Option 1D = 928]

A w N =

Correct Answer :-
e Transfering file from one computer to another/ud ®wic2 A R 3 Wisel ®I FAGIARU Bl [Option ID = 925]

28) Given below are two statements regarding phishing.
Statement I: It is a program code that can replicate itself with the intention of deleting files.
Statement Il: It can be filtered but at the Internet Service Provider's (ISP) level.

In light of the above statements, choose the correct answer from the options given below

fiRior & JAder 3 offar <t weret Ry s 3 :

@ - | : U8 v Yo @IS 3 Sil Wiscll @l &clol D 3893 A Ul redhfer IR B2 Idar 3
@l - |l : a8 $cole Aar ygIar @ ¥R UR fibeez fosn s aIavar 3

SWwRIP Deell d el 3, offd e sre fameul 3 A 8l IR @I w61 BRI ©

[Question ID = 233][Question Description = S2_qSNz_PG_GP26_Q33]

Both Statement | and Statement Il are true/eer | siiz |l G¥6il 31 & [Option ID = 929]

Both Statement | and Statement Il are false/@memwr | 3z 11 Gloil 3Rt & [Option ID = 930]
Statement | is true but Statement Il is false/ermerl | 31 8, fboq @eret |l srir & [Option ID = 931]
Statement | is false but Statement Il is true/wpl | sRI=I &, fboq e |l A= & [Option ID = 932]

A wWw N -

Correct Answer :-
e Both Statement | and Statement Il are true/eer | 3l |l Gl6il a1 & [Option ID = 929]

29) Which of the following statements regarding Intranets are correct?
A. The Intranet can be accessed from anywhere by anyone

B. The Intranet has public access

C. They are more secure than internet

D. In Intranet, it is possible to control external links

Choose the correct answer from the options given below:



geole @ Ade I forefeiRaa et 3 5K &, W8 e ot gol ©

A. scolc @I Suiel ool & gRI wé A ol v s Jmar 3

B. gezolc o1 Ardsiforas SURNGT 3Xr &

C. d sevole &I srisen sifera JaAda 3

D. seoie 3, ara o3l (i) o forifea won ea

il fou o1 fraseul 3 3 I IR BT w6l HIfSIE :

[Question ID = 234][Question Description = S2_qSNz_PG_GP26_Q34]

1. A, B and C only/dsaet A, B siiz C [Option ID = 933]
2. Cand D only/aaer C siiz D [Option ID = 934]
3. A, Cand D only/a@ae A, C siiz D [Option ID = 935]
4. B and C only/@ae B siiz C [Option ID = 936]

Correct Answer :-
e A, Band C only/@act A, B siiz C [Option ID = 933]

30) Match List | with List Il

List | List Il

Name of Memory SizeNumber of bits|
A. MB (Megabyte) |, 230

B. GB (Gigabyte) II. 2%

C. TB (Terabyte) . 220

D. PB (Petabyte) Iv. 240

Choose the correct answer from the options given below:

et -1 1 g -1l A e Hifde

et -1 et -1l
A. gat &t (deTrerse) . 230

B. it & (sftemrarsc) 11, 250
C. & &t (%rarse) . 220
D. tft & (deraréc) Iv. 2

il feu o1u faasedl 3 A A8 3R gforu :
[Question ID = 235][Question Description = S2_qSNz_PG_GP26_Q35]

A-11,B-1ll,C-1,D - IV [Option ID = 937]
A-1ll,B-1,C-1V, D - Il [Option ID = 938]
A-11,B-1l,C-1,D- IV [Option ID = 939]
A-1,B-1,C-1ll, D - IV [Option ID = 940]

AW N =

Correct Answer :-
e A-Il,B-IIl,C-1,D-IV[Option ID = 937]

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The in-situ passive soil remediation process is the easiest to implement and the least expensive

Reason R: It relies upon several natural processes to destroy the contaminants

In light of the above statements, choose the most appropriate answer from the options given below

ofl 3l ool fRu sre 3@ up sifdraperst (Assertion A) @ a3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
aifdrperet (A) @ ¥4 - Ferel foifSaa Je1 Uk g B IUsITell AR TRAT6T 3R AeR] o Fdlcr 3

@Yl (R) : u1s Afaoull Pl AT B0l &I fafdeor Yrapfere yfdgen uz ok 3

SWRITD Dol B D d, ofd e Ricul 3 A A 3= &1 It Hifste ©

[Question ID = 236][Question Description = S2_qSNz_PG_GP26_Q36]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) clali 3t 3 3z (R), (A) &t 36t «n & [Option ID = 941]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) @il & @ wdsq (R), (A) i A&t wmen o1df & [Option ID = 942]
3. Ais correct but R is not correct/(A) 3t @ wog (R) 2@t ot & [Option ID = 943]

4. Ais not correct but R is correct/(A) 3@t oiét @ uvog (R) 3@t & [Option ID = 944]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 2@t & 3z (R), (A) 6t 3@ == 8 [Option ID = 941]



32) Dewatering of sewage sludge can be achieved by
A. Gravity thickening

B. Mechanical stirring

C. Osmosis

D. Floatation

E. Screening

Choose the correct answer from the options given below:

SIeT - J1el @ Hlas Bl JHre! b1 BRI RpAd Grr fpar s @ & ?

A. 315ca Rrarvr

B. iftye facis®

C. RRU

D. wrast

E. oo (Fagifsien)

il feu s1u faresedl 3 A A8 IR D1 WRIel B :

[Question ID = 237][Question Description = S2_qSNz_PG_GP26_Q37]

A, B and D only/d@act A, B sfiz D [Option ID = 945]
B, C and E only/@aet B, C siiz E [Option ID = 946]
A, C and D only/dacr A, C siiz D [Option ID = 947]
C, D and E only/a@5aet C, D ik E [Option ID = 948]

A w N =

Correct Answer :-
e A, Band D only/dact A, B siiz D [Option ID = 945]

33) Match List | with List I

List | List Il

Acts 'Year of Inception
IA. Water Prevention and Control Actl. 1986

B. Air Prevention and Control Act |[Il. 1974

C. Environment Protection Act . 1987

D. The Factories Amendment Act [IV. 1981

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -1
(siferforerar) (gre1 ot ad)
A. stet forareur aitz Rriqur sfifdrmE . 1986
B. arg ferarzur stz Rriqur aififorma Il. 1974
C. uatazor zizervr afdiferera . 1987
D. Bac# sioieror aftiform IV. 1981

il fou s1e frseul 3 3 A8 IR gfors ©
[Question ID = 238][Question Description = S2_qSNz_PG_GP26_Q38]

A-11,B-1V, C-1ll, D -1 [Option ID = 949]
A-11,B -1V, C-1,D-lll [Option ID = 950]
A-1IV,B-1ll,C-1,D- Il [Option ID = 951]
A-1ll,B-1,C-1I, D - IV [Option ID = 952]

A W N -

Correct Answer :-
e A-Il,B-1V,C-1l,D-I[Option ID = 949]

34) Which one of the following isotopes of Uranium is fissile material and can be used for nuclear reactions?

forgatferi¥aa 3 A Dlel AT v JRMoRIA DI 3MsAICIU fedsa ugref 3 3R onfirbiRr siffifdpen @ fere ggop fopen st 1w 3 :

[Question ID = 239][Question Description = S2_qSNz_PG_GP26_Q39]
U-234/U-234 [Option ID = 953]
U-235/U-235 [Option ID = 954]
U-236/U-236 [Option ID = 955]
U-238/U-238 [Option ID = 956]

A w N =

Correct Answer :-



e U-234/U-234 [Option ID = 953]
35) Rain is termed as acid rain when its pH value is
quf Pl il auf @ U 3 SIiell ST & S 337! pH Ica & :

[Question ID = 240][Question Description = S2_qSNz_PG_GP26_Q40]
1. 1-3/1 - 3 [Option ID = 957]

2. Less than 5.6/5.6 3 @a [Option ID = 958]

3. 5.6-7.0/5.6 - 7.0 [Option ID = 959]

4. More than 7/7 3 siféis [Option ID = 960]

Correct Answer :-
e 1-3/1 - 3 [Option ID = 957]

36) Who chaired the first committee constituted by Government of India on Women's education after independence?

Fadaqal @ d1c Afdcasil bl I8 Uz HRA IRDR GRI s1fda yerer Afifer &I sreerar fpera &t ?

[Question ID = 241][Question Description = S2_qSNz_PG_GP26_Q41]
1. Dr. Radhakrishnan/st. aremgwrer [Option ID = 961]

2. Dr. Durga bai Deshmukh/st. gotfaré Segza [Option ID = 962]

3. Hansa Mehta/gar dsar [Option ID = 963]

4. Kamala Chaudhary/aaren dierst [Option ID = 964]

Correct Answer :-
e Dr. Radhakrishnan/st. 2renegwrer [Option ID = 961]

37) Disruptive technologies in education mean

181 3 frercordsl adeiial @t ifdigrRr 3 :

[Question ID = 242][Question Description = S2_qSNz_PG_GP26_Q42]

1. New technologies that completely change the way things are done in education/srft ddolld Srier deifdrd yfdpen & disii ot yulaen acat f&=n & [Option ID =
965]

2. Prevention of technology in education/feign 3 daoftas bt JAwemst [Option ID = 966]

Use of Artificial Intelligence/mfe gfig @1 3wiier [Option ID = 967]

4. Obsolete technology/smafera dawaftas [Option ID = 968]

w

Correct Answer :-

e New technologies that completely change the way things are done in education/srft daofidd forter dieiftre yfepem bt fisii @t yulaen aget fzn & [Option ID =
965]

38) Given below are two statements

Statement I: "The improvement of Secondary Education was an essential foundation for the improvement of Secondary
Education”, was the view held by the Calcutta University Commission

Statement Il: The Calcutta University Commission recommended the use of mother tongue in the intermediate colleges for
teaching all the subjects

In light of the above statements, choose the most appropriate answer from the options given below

il ol Dol fdu sre 3 ¢

@Yol - | : "areaide 19181 3 FerR et 18 3 JUR o ot sifcErsTagui sneR o AE SRR werddr faafienery SIRIBT BT or
Dol - || : Dot feafdenern RIPT of A3l ARl DI ugel & fe1u scdifdue dicsll 3 ATGHINI B IuAeT DI IGIrAT b=
SRIT Bl d el 3, ofid v sre freedl 3 A AR U TR I a6l HIfSte :

[Question ID = 243][Question Description = S2_qSNz_PG_GP26_Q43]

Both Statement | and Statement Il are correct/wmeret | 3ii |1 Gloff 31t & [Option ID = 969]

Both Statement | and Statement Il are incorrect/aerer | iz 1l GXail sicta & [Option ID = 970]

Statement | is correct but Statement Il is incorrect/@erwr | 3@t 8, fbog @ere |l sieia & [Option ID = 971]
Statement | is incorrect but Statement Il is correct/@erw | stera 8, fboq P | 2t 8 [Option ID = 972]

A WN =

Correct Answer :-
e Both Statement | and Statement Il are correct/emwr | aiiz 1l gleil 31dt & [Option ID = 969]

39) The presence of which of the following points poses challenge for higher education system as per NEP-2020?
A. Large affiliating universities

B. Ineffective regulatory system

C. Limited teacher and institutional autonomy

D. Emphasis on research



E. Efficient merit based career management and progression of faculty members

Choose the correct answer from the options given below:

orAt forgm ofifer - 2020 o iR 3<a g 3 fepme geilferit fiver forgorferRaa figsit 3f yaqa axdl 3 ¢
A. gea Jafy fRrafdencrn

B. srgsirdl faformae <azen

C. fif¥ra Rigr® 3iiz Jirenford Farmar

D. onter uR set

E. a1 Aearn snenfya HiRR ydere iz baocd Ac=il df aga

oifd fu sru ferpeul 3 3 Al IR BT TR DIfSTU ©

[Question ID = 244][Question Description = S2_qSNz_PG_GP26_Q44]

1. A, B and C only/dact A, B siiz C [Option ID = 973]
2. B, Cand D only/@qe B, C siiz D [Option ID = 974]
3. C, DandE only/a@ae C, D sfiz E [Option ID = 975]
4. A, D and E only/daet A, D 3iiz E [Option ID = 976]

Correct Answer :-
e A, Band Conly/dact A, B siiz C [Option ID = 973]

40) Match List | with List Il

List | List Il
Schools of Philosophy Propounders
A. Samkhya . Gautam
B. Nyaya Il. Kanada
C. Vaisheshika lll. Kapila

D. Purvamimansa IV. Jamni

Choose the correct answer from the options given below:

el -1 @1 g -1l A Fafera Hifste ¢

et - et -1
(golol & Rrar Aycr) (Yferarca)
A. Atz |. aiicar
B. GIrr Il. wurg
C. a9 Il. wfrer
D. g #farian IV. Sifdreft

il f3u o1 fseul 3 A A IR gfom ©
[Question ID = 245][Question Description = S2_qSNz_PG_GP26_Q45]

A-1,B-1l, C-1V, D - Il [Option ID = 977]
A-11,B-1,C-1V, D - Il [Option ID = 978]
A-1I,B-1,C-1I,D- IV [Option ID = 979]
A-1IV,B-1ll,C-1l,D - I [Option ID = 980]

A w N =

Correct Answer :-
e A-1,B-1ll,C-1IV, D - Il [Option ID = 977]

Topic:- GP_29NOV_C

1) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18th century and scientific advances in the 19th century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,



James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

oflx feu arerior @l ufeu iz saz fve ©

g2 sfesra 3, Sfiael @ Iga ol AR @ fére diell oI e[ UlRINe da, didoden iR &l & 3R & 261 3l il am ggd A kil @I €6
feraret enfifes sfall 3 ford s1u aedl 3 a1 8 3iR =il @I Uidl &2 Uidl 3me! aorn sirar a1 & 18 df A<t 3 anfdbasar arer Jyo1 @ 3MPriel A, KSraen
ofl, SIoIHdasIo ARl GRI GRTA febu Sifol 31 1 slopdsiod Ufegivl 3 ol @ GRI Sllel Bl TPISH Bl Adqse fpr S ADT

1865 3, slar Avsel, v MR¥zrol A1¢) Ricslol fireer 8 auf A suSer Az UR UGl YT B2 W A, Ioslel dsiifold SPOIA 3 ayun e o
fafdree fadraang, srerar cgor, airar-frar A srueht Fafer 3 He1fda siiz yaloErn adid A rercrafyda g sad W@l arcd sifder & Yrpftis arior
3z faprT @ Rigia @ 1859 & ywmiome, 'genferil & 3ga’, # aarn sri b Avsa &l st Sfiaet & 3 dl YIRITd RIRRIT Toldb? 3rogfdifdrdht
st @ fere ues arvr Fenfia fRen

JAonfra JgaciORi 6 Asrar), dsuforem! i RN arcll BIfdremsil & sif¥aca siiz Jivden &t st e 20 df It @ usal GrP D IR
3, Bl U= ol arell Afa(E, cwenr$) uR fopu sRI g1l 2 udr dcll o PIfSrmT & oyfareriRT 3 sraf¥era GiaRNF Sfi A fifdfa & griifeen
ATHIG U 3 B IS DSl Sliol dredl et Sfifad Sra off fRimT sie1aifdrs $u A aAxIRige! o srn 1944 3, siaare wdldl of 3t wel w A
forfdfer sropaifdres Asor arsm @ Hu i Jadifyan i uR Si6r ardl SfiA @1 udr eemrn 1953 3 Se dicre iz Bif¥rea g o 3t ot T @ I8
pusierll &t st fioar s fére 3saiol 9 ad arg slidc YR gid i g Jo1- ul¥adera st st & GRI Jgasitaldsiiet sfiaer & ifedbt
&l Idpiferd Fuse a¥dlz Folrol 3 AWel 8l SR Sfidel @ PIs @l Sielal D 1w Yy dsiform 3 el D Rad 3reldifdrd AGIRIGUI O Jdclel
@1 gfer urca fosm

What is the meaning of 'empirical evidence'?

‘3o dSIoR] ATSA DI 3M9RI ORI & ?

[Question ID = 246][Question Description = S2_qSNz_PG_GP26_Q46]
1. based on observation and capable of being verified/smaciidor @ 3imenR U2 iR ANAd 2ot cIRID

[Option ID = 981]
2. based on received knowledge/sgur fopu sRI iTel U2 Smenfya
[Option ID = 982]
3. based on knowledge from historical empires/ v Rk APl & Silol W 3menf¥a

[Option ID = 983]
4. based on mythology and folklore/dizifie aerr 3z clids dver u2 aimenfya

[Option ID = 984]

Correct Answer :-
e based on observation and capable of being verified/smciiaer @ 3imen2 w2 3ii2 Acfid Slot cIRID
[Option ID = 981]

2) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18tn century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.



oflx feu arerior @l ufeu iz saz difve @

g3 siderT 3, Siidel @ Iga df IRIRI @ fo1u disll Bl b URINIG oI, didbddl 3R & DI 3R & 261 3R 3nil ao dgd A dPll @I €6
forearzr enfifes sjeil 3 o s1w ael 3 a1 3 3R 32t @1 Wil &2 Ui 3ol agrn siar w61 3 18 & 1<t 3 anfderan arel Yot & PR A, Ridor
ofl, sropasIodI ALl SRI YRIRI fepu el 3R 33 siopdsticl ufgivl 31 uRdel @ GRI Siiel &l gl Pl JAdre e S ADT

1865 3, slar Avsel, v MRcRIol A1¢] Ricslol el 8 aul A suSer Az UR UGl YRPT B2 W A, Ioslel dsiifold SPIA 3 dyvn s o
faforee faoraard, srerar cgror, arar-frar A sraett Fafer 3 Herfda siiz yaloErr afid A rercnafyda gu  s3d W@l arcd sifder & Yol arior
3= faprt @ Rigia @ 1859 @ ywmiome, 'genferil & 3ga’, # aarn sri b Avsa &l st Sfiaea & 3 Dl YIRITa RIRRIT Foldb? 3rgfdifdrdt
st @ fore ues arvr Fenfia feen

JAonfera Jgachifl & AerIar!, dsufors! 3 @RI arct BIfdreRil @ sif¥daa sz Hvden &I @ist fieenr 20 of A8t & use 91D D IRH
3, we1 UR FBol arcl ARERII(H,cwerrs) UR fbu 3R GBI A udr e 5 oifdret o sfirerra 3 sraf¥em qieiig sfiw 2 foidfa & grfifsen
AHAIG U A B IS DSl Sliol diell Yera Stifad ST off fSRIwT sieidifdrs U A AxIRige! o srn 1944 3, sikaare wdidl of 3t wel © A
forfdfar ropaifrd Aocor ared & FU 3 dadiien 3 URl el arcl SiiT o udl cemRn 1953 3 =1 dicard 3k Bk fipd of 3 wal © @ dlee
pusierndl &I His o Brid e Iegiol 9 ad a6 sllde YR gi irn  g® Yor-ufvaderarl Hist @ gRI Jgasilaldsiel sfiaet &I iferdbt
&l Idpifer Fuse a¥dlz Folrol 3 AWel 8l SR Sfidel @ IS @l Sielal D 1w Y dsmfore 3 el D RMac 3eldifdrd AGIRIUI O Jdcrel
@I yfer urca fopm

According to the author, what were the initial sources of information for understanding the beginning of life?

CRAP D AGRAIR, Sildol bl B3I Bl Aol D fe1u SIeIPRl & YRt Jda o o ?

[Question ID = 247][Question Description = S2_qSNz_PG_GP26_Q47]
1. Scientific discoveries/dsuféra st
[Option ID = 985]
2. Folk knowledge and scriptures/clia @bt sirel 32 epfsjer
[Option ID = 986]
3. Imaginative literature/@cuford nfder

[Option ID = 987]
4. Discoveries of Mendel and Darwin/awser 3iiz sifdor &1 zdist

[Option ID = 988]

Correct Answer :-
e Scientific discoveries/d=mfor® st
[Option ID = 985]

3) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18:n century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ofla feu srenior o ufew sz saz difse ©

q2 sfeert 3, Sfiae @ Iga &l casArRIl @ féru diell oI e[ Uik da, didoden i et & 3R & 261 sl il ao aga A kil @I &6
forareT enfifes sfarl 3 ford s1u aedl 3 a1 8 3R 3=l @I Uil &2 Uidl 3me! R sirar 2e1 & 18 df 1St 3 anfdsasar arer Jgo1 @ 3MPriel A, KBrasn



ofl, SIolMasIo ARl SRI YRR fpu Sifol 3R 1 siopydsiodd Ufegivl I UEol @ GRI Sliel bl 3TPig Pl Adqse o= ST ADT

1865 ¥, sar Avsd, va R¢a A1e) Ficslel firea 8 adf A suSar Aicz U= 31Usl YRIPI 2 38 A, Ioalol dsiifold SIOI 3 v s i
faforse froraard, sterar cagror, rar-far A smueht FHafer 3 1o siiz yafoErr afid A remciaf¥a g sad A1l arcd sifdfer & grpfere arror
3R T @ Rigia @ 1859 @ ymiere, 'JeicRil @ 3gd’, 3 SarI R b dvse ol Fiel Sfiaea @ Igd Dl YIRITA RIRSAT Jold2 eldifordbl
farsiel @ fore was arur Fenftra fapen

Jonfira Jgacidfil 6 Asrar, dsuform! i DRI arcll Bifdrmisil @ sif¥dca 3iiz Jivdon &t st fisanr 20 df 71t @ usd GrP & 3R
3, wel urR ¥eal arcl ARERII(E, cwers) Uz fpu SR GRIEI A udar dad &b PIfdreT & RIfeerr 3 sraf¥ea qreiRiler sfia A foldfa 8 SRifben
AHIGA FU A BT Dl Silol arcil yera sfifaa fBra et i1 sefaifdres su 3 aeifiqur fooar srr 1944 3, sieraret galdt of 3t ol @ A
forfdfer sropaifdres s or arses & Hu I Jadifyan # urY e arar Sz o udr ePmrn 1953 3 S dicere ik Gt e of 31 vol U & 1Y
pusiertl &t s e fSr1d fére 3sdiol 9 ad ac dllde YR g fen g Jge1-ufdacderasl st & gRI Jgasilalisiel sfiaer & aifebt
&l AdpIfcid Fuse d¥diR Jollol 3 AWl 3l SRl Siidel @ PIS Pl Silelol @ 18 Y dsiiferd 3 Hleld @ RIMUD 3IIoIdifdrd HATGIRIGUI & Helel
@I Yfer urcd fopr

What is the theme of this passage?

$31 39l BT Hel-faerr a=r 8 ?

[Question ID = 248][Question Description = S2_qSNz_PG_GP26_Q48]
1. Origin and mechanics of life/3ga sfiz Sfiact & =nifeebt
[Option ID = 989]
2. Scientific knowledge from ancient times/yrcfior 2wrI @ dsmford ol
[Option ID = 990]
3. Structure of cell/®Irr 6t idon

[Option ID = 991]
4. Belief versus science/smmzen gomat firsiret

[Option ID = 992]

Correct Answer :-
e Origin and mechanics of life/3ga iz Sftaer < =rifebr
[Option ID = 989]

4) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18t century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ofl feu arerior @l ufeu iz 3az difce ©

g3 sfersra 3, Sfidel @ Iga &l caRsARI @ fere el @I i UlRIftIm e, didden i &l &l 3R & 81 3l 3nil ao ggd A sl @I €6
forarar enfifes sjell 9 oA s1g ael 3 a1 3 3l =it @1 il g2 Ui 31el agrRI sirer 261 3 18 df 216t 3 anfdasar arer Jot o PR A, Ridoen
9il, SIolsIdsIo AT SRI YRR fpu Sifol 3R 321 sigpdsiodd Uf¥givl I Uol @ GRI Slel Bl ATPIg Bl Aqse v S ABT

1865 ¥, Jar Avsd, va MR¢al ATe) ficslol fired 8 adf A suSer Az UR 31Ust YR B2 38 &, Ioalol dsifold SIK 3 v s 6
farforee froraard, srerar cagror, rar-far A el Fafer 3 1o siiz yafopErn afid A remciaf¥da gu  s3d W@l arced sifdfer & grapfere arror
3z faprT @ Rigia @ 1859 @ ywmivmE, 'genferil & 3gda’, d aari sri b Avsd &l st Sfiaed & Iga Dl YIRITa RARRIT Fold? 3roldifdrdht
forstret @ foru v arur Fenfie fipen

JHonfera gl &I Fer@RrI, dsmform! 3 DRI arcll BIfdr®Isll & IRdra 3R Hden oI Fie fibenr 20 df AT D Uscl GP D 3ARH
3, ®eT U= ol drcil ARRERIN(E, cUels) UR fpu sRI Yl A udl et [ DIrDT & oAfderRT 3 sralera oiaRiet sfia I foufdfa 4 SRilfeen



AHIGA U A B Ul Dl Silol dicil gera sfifad S <t 1w srefaifdrs su A #Areifigur fooan srr 1944 3, sieidarer gaidl of St gol @ A
forfdfa sropaif9rd Aocor are® @ Hu I dadiien 3 Url Siel arcl Sii o udl cemRn 1953 3 S=t dicerd 3R Gilkea figd of 3t vol v @ dise
pusiernll &t wiet foan Rrid fére Ioslal 9 ad a ollde UzzR yid e ge Jor-ufsaderar Fisr a5 GRI Jgashafdsiml sitaer &I aifedt
&l AdmIfciad Fuse a¥di dollol 3 AW 8l SRl Siidel @ DIS Bl Silelol @ feTe Ygia dsiiferds 3 HAleld @ RIMUD 3foldifr® HATGIIGUI @ Hbelol
@1 yfer urca fosm

Whose scientific contributions inaugurated the science of genetics?

fepa1ad> dshfor APl of 3rofaifdrdl frsiel @I 9MRY fpar ?

[Question ID = 249][Question Description = S2_qSNz_PG_GP26_Q49]
1. Charles Darwin/ane3t sifdfer

[Option ID = 993]
2. Gregor Mendel /31 duse
[Option ID = 994]
3. Gregor Mendel and Charles Darwin/3prz dwser siiz arci sifdor

[Option ID = 995]
4. James Watson and Francis Crick/S@=1 areior sfiz widri fipm

[Option ID = 996]

Correct Answer :-
e Charles Darwin/arc3t sifdfar
[Option ID = 993]

5) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18t century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species’. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ofla feu arenior @ ufeu siiz saz difse ©
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farforse froraard, srerar cagror, Jrar-far A smaelt FHafer 3 Hsifda siiz yafoErl afid A remcial¥a g sad AreEdl arcd sifdfer & grpfere axror
3= faprT @ Rigia @ 1859 & ywmigrel, 'genieril @& 3ga’, A aarn sri b Jvsa &t st siiaer B 3ga dl YIITd SARSRIT Sold? 3iofdifdrdt
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@I Yyfer urcd fopm



What helped molecular biologists to form a clearer picture of the mechanisms of life?

Sitael @ ifefbl Bl Fuse ar<dlz Joirol 3 Jga SHafersnforil @ Rl WerIa grd &8 ?

[Question ID = 250][Question Description = S2_qSNz_PG_GP26_Q50]
1. Knowledge from myths/frerst 31 yra strer

[Option ID = 997]
2. Incentives like Nobel Prize/siier geeoR St Iz

[Option ID = 998]
3. Evidence based discoveries/3mg=1 amenfsa st

[Option ID = 999]
4. Technical limitations/aoforbt 2feme

[Option ID = 1000]

Correct Answer :-
e Knowledge from myths/frerpt 3 gra siror

[Option ID = 997]

Topic:- History_Set1_sh1_A

L Which of the following chaleolithic sites is located in Rajasthan?

(1) Songaon (2) Eran
(3) Chandoli (4) Ganeshwar

TTH H FEII T HIHE W T a2 7

(1) @rE (2) T

(3) === (4) TUITER

[Question ID = 10619][Question Description = Q01_History_ SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12473]
2. 2 [Option ID = 12474]
3. 3 [Option ID = 12475]
4. 4 [Option ID = 12476]

Correct Answer :-

e 1 [Option ID = 12473]

In which of the following texts are the Sabha and the Samiti mentioned as the two

daughters’ of a Vedic deity?

(1) Rigveda (2) Yajurveda
(3) Atharvaveda (4) Brihadaranyaka Upanizhad

=94 © T 9y | @ 31k aibld w1 sg@ v dfew daar 1 2 ghE & = 9 e o R

(1) FE (2) T2
(38)  wAuEEE (4) FEarvEE IR

[Question ID = 10620][Question Description = Q02_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12477]
2. 2 [Option ID = 12478]
3. 3 [Option ID = 12479]
4. 4 [Option ID = 12480]



